Worked answers

Level 1

Percentages and calculations
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Non-Calculator Questions

1. Write 60% as a decimal.

[1 mark]
Your answer: 0.6
2. The cost of a return train ticket from London to Fort William is £176
Don sees an offer which gives him a 15% discount.
How much money will Don save if he has the discount?
[2 marks]

10% of 176 = £17.60
5% =17.60 + 2 = £8.80

15% = 17.60 + 8.80 = £26.40

Your answer: £ 26.40
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3. The weather forecast says that at the top of Ben Nevis at 2pm there is

e a20% chance of snow

e A % chance of rain.

Show your working.

[2 marks]

Rain: = =30%
10

Your answer:
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4, Denise starts up a business making candles.

She borrows £2500 for one year.
The interest on the loan is 5% per year.

How much will Denise pay back in total?
[2 marks]

10% = £250

5% = £125

2500 +125 =2 625

Your answer: £2 625
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5 (a) James looks for a car to buy.

There are 396 cars advertised.

25% of them are diesel cars.

[2 marks]
396 +4 =99
Your answer: 99
5 (b) James takes a loan out to buy a car.
He borrows £4000
He will pay 5% interest on the loan.
Calculate £4000 increased by 5%
[2 marks]
10% = £400
5% = £200
4 000 + 200 = £4 200
Your answer: £4 200
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Calculator Questions

6. 53% of the eggs produced in the UK in 2018 were free range.
Write 53% as a fraction.
[1 mark]
53
Your answer: 100
7. An aid charity finds that:
e 20% of the people in village A are malnourished.
o 15% of the people in village B are malnourished.
Village A has a population of 300
Village B has a population of 440
Which village has the higher number of people who are malnourished?
Show how you decide.
[2 marks]

Village A: 300 x 0.2 = 60

Village B: 440 x 0.15 = 66

Your answer: Village B
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8. This information appeared on a website about food wastage.

) WHO’S WASTING THE MOST FOOD? (

-

Households Restaurants
45% 35%
L)
ﬁ
Supermarkets Other
15% 5%

Give your answer in its lowest terms.
[2 marks]

15 3
15% =—=—
5% =100~ 20

Your answer: 20
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9. Hamid needs to book transport.

A small minibus will cost £45

He has a voucher for 5% off.

[2 marks]

45 - 5% = 42.75

Your answer: £ 4275
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10. A group of friends go to lunch.

Bethany has a voucher giving her 35% off.

lkrah has a voucher for %off.

Show how you decide.
[2 marks]

2+5=04

0.4 x 100 = 40%

~ | Ikrah
Your answer:
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1. Every year, Shaz arranges a football tournament to raise money for charity.

Last year she raised £175

This year her target is to raise 25% more than last year.

[2 marks]

175 x1.25 = 218.75

. | £218.75
Your answer:
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12. At a clinic, the time that each person arrives is recorded.

Asmita also writes down the times that each person’s check-up begins and ends.

She uses this information to draw a graph.

Graph showing waiting times and check up times for clinic

KEY: [ Number of minutes spent waiting [] Number of minutes having a check-up

For example: patient 2 arrived at 16.44 and did not have to wait
patient 5 arrived at 16.56 and waited 18 minutes until 17.14 before being seen
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Asmita says, ‘40% of people either waited no time or waited less than 10
minutes before the start of their check-up.’

Is Asmita correct?

Show your working.
[3 marks]

15x04=6

8 out of 15 waited less than 10 minutes which is more than 40%

No
Your answer:
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13. Volunteers are going to help in a children’s home.

The ratio of boys to girls in the home is 1:3
There are 80 children in total.

75% of the boys and 40% of the girls are under 10

[4 marks]

80+4=20
20 boys and 60 girls in total
20x0.75=15

60 x 0.4 =24

Your answer: Boys: 15

Girls: 24
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